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Maximum Instruction Time : 0

Sub-Section Number : 1
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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 133327121 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which vayu is responsible for sneezing?

(1) Nagan (2) Uthanan
(3) Thananjeyan (4) Kirukaran

Question Number : 1 Question Id : 133327121 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 133327122 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which Aatharam represents the root of 1008 Nadi Narambugal?

(1) Suvathistanum (2) Anagatham
(3) Akkinai (4) Manipuragam

Question Number : 2 Question Id : 133327122 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 133327123 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Which panchabootham is responsible for articulation of mouth?

(1] Water (2) Space
(3) Fire (4) Earth

Question Number : 3 Question Id : 133327123 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 133327124 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which sakthi is responsible for the binding of energy?

(1) Vigadana sakthi (2) Sangadana sakthi
(3)  Avarna sakthi (4) Vitchepa sakthi

Question Number : 4 Question Id : 133327124 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 133327125 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled

as Reason (R).

Assertion (A):  Salt taste causes diarrhoea.

Reasons (R):  Salts are given in diarrhoea.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2)  Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3)  (A)is correct but (R) is not correct

(4)  (A)is not correct but (R) is correct

Question Number : 5 Question Id : 133327125 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 133327126 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Rearrange the following five states.

(A) Dreaming state
(B)  Sleeping state

(Q) Conscious state
(D) Comatose state

(E) Demise or death state

Choose the correct answer from the options given below :

(1) (k) (A), (B), (C), (D)
(2)  (B), (A), (C), (D). (B)
3)  (Q).(B) (A), (D) (B)
4) Q) (A) (B), (D) (E)

Question Number : 6 Question Id : 133327126 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 133327127 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which are the characters of earthy objects?

(A) Voluminous
(B)  Stability

(C) Dryness

(D) Moisture

(E) Sharpness

Choose the correct answer from the options given below :

(1) (B) and (C) Only
(2) (D) and (E) Only
(3) (B) and (D) Only
(4) (A) and (B) Only

Question Number : 7 Question Id : 133327127 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 133327128 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
(A) Pirasagam ()  Livesin joints
(B) Alosagam (1)  Skin colour
(C) Santhigam () Lives in eyes
(D) Pothagam (IV) Causes taste

Choose the correct answer from the options given below :

(1) A)-an, B)-(), (Q-(V), (D)-(II)
(2)  (A)-(), B)-(), (C)-(1), (D)-(IV)
(3)  (A)-UV), B)-(), ([©)-(1), (D)-(
4 (A)-an, B)-(), (Q-(), (D)-(IV)

Question Number : 8 Question Id : 133327128 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 133327129 Question Type : MCQ Option Shuffling : No



Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l :

List | List Il
(A) Sattamuni () Madurai
(B) Vaanmigar ()  Thiruvananthapuram
(C) Sundaranandhar () Srirangam
(D) Agathiyar (IV) Ettukkudi

Choose the correct answer from the options given below :

(1) (A)-(ID), B)-(V), (O, (O)-(1)
(2)  (A)-(V), B)-(I, (©)-(1), (O)-(II)
(3)  (A)-(Im), B)-(), (©)-(1), (D)-(IV)
@ (A)-(n), B)-(v), (Q-(), O)-(n)

Question Number : 9 Question Id : 133327129 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 133327130 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Which taste cleanses the mothe’s milk?

(1) Sweet (2) Sour
(3) Bitter (4) Salt

Question Number : 10 Question Id : 133327130 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 133327131 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which is the precursor for prostaglandins in humans?

(1) Eicosanoids (2) Cycloxygenase
(3) Linoleic acid (4) Arachidonic acid

Question Number : 11 Question Id : 133327131 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 133327132 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which is the confirmatory test for HIV — AIDS?

(1) ELISA (2) Western Blot
(3) CD4 Cell count 4) RT-PCR

Question Number : 12 Question Id : 133327132 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 133327133 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement |:  IgA are secretory antibodies

Statement II:  IgM are natural antibodies

In the light of the above statements, choose the correct answer from the options given

below :

(1)  Both Statement | and Statement Il are true
(2)  Both Statement | and Statement Il are false
(3)  Statement | is true but Statement Il is false

(4)  Statement | is false but Statement Il is true

Question Number : 13 Question Id : 133327133 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 133327134 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

|dentify the correct statement regarding HbA1C

(A)  Elevated in sickle cell anemia

(B)  Useful index for long term control of blood glucose

(O  Fasting sample is required

(D)  Itis affected by recent food intake

Choose the most appropriate answer from the options given below :
(1) (A) only ) (B)only

B) (O only (4) (D) only

Question Number : 14 Question Id : 133327134 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 133327135 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

“Tautomerization” is also known as

(1) Enolization (2) Sublimation

(3) Chelation (4) Reduction

Question Number : 15 Question Id : 133327135 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 133327136 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which cervical vertebra is identified by odontoid process?

(1)  Atlas (2) Axis

3) 6" cervical vertebra (4) 7" cervical vertebra

Question Number : 16 Question Id : 133327136 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 133327137 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following opening is not present in the diaphragm?

(1) Aortic opening (2) Oesophageal opening

(3)  Vena caval opening (4) Obturator foramen

Question Number : 17 Question Id : 133327137 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 133327138 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following artery is the smallest and thinnest branch of the external
carotid artery?

(1) Superior thyroid artery (2) Lingual artery
(3)  Facial artery (4) Ascending pharyngeal artery

Question Number : 18 Question Id : 133327138 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 133327139 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which vein is the continuation of the basilic vein?

(1) Radial vein (2) Cephalic vein
(3) Median vein (4) Axillary vein

Question Number : 19 Question Id : 133327139 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 133327140 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following is the smallest salivary gland?

(1) Prostate gland (2) Parotid gland
(3)  Sub mandibular gland (4) Sub lingual gland

Question Number : 20 Question Id : 133327140 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 21 Question Id : 133327141 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled
as Reason (R).

Assertion (A) :  The right kidney is lower than the left kidney.

Reason (R) :  The right hypochondrium is occupied by the liver.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1)  Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2)  Both (A) and (R) are correct. but, (R) is NOT the correct explanation of (A)
(3)  (A)is correct. but, (R) is not correct

(4)  (A)is not correct. but, (R) is correct

Question Number : 21 Question Id : 133327141 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 22 Question Id : 133327142 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

The following muscles are in the Anterior compartment of thigh.

(A)  Sartorius

(B) Vastus medialis
{C) Gracilis

(D)  Vastus lateralis
(E) Pectineus

Choose the correct answer from the options given below :

(1) (A), (B) and (E) only
(2) (B), (D), and (E) only
(3) (A), (B) and (D) only
(4) (C), (D) and (E) only



Question Number : 22 Question Id : 133327142 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 23 Question Id : 133327143 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| :  The liver secretes the bile.

Statement Il :  The bile is stored into the gall bladder.

In the light of the above statements, choose the correct answer from the options given

below :

Both Statement | and Statement Il are true.
Both Statement | and Statement Il are false.
Statement | is true. but, Statement Il is false

Statement | is false. but, Statement Il is true

Question Number : 23 Question Id : 133327143 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 24 Question Id : 133327144 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

The following are the endocrine glands

(A)  Thyroid gland
(B)  Adrenal gland
(C)  Parotid gland
(D)  Sublingual gland

Choose the most appropriate answer from the options given below :
(1) (B), (D) only ) (Q), (B) only
(3)  (A) (B) only 4) (B), (O only

Question Number : 24 Question Id : 133327144 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 25 Question Id : 133327145 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
(A) Hip bone ()  Bone forming from muscle tendon
(B) Femur (I)  Obturator foramen
(C) Patella (I} Largest tarsal bone
(D) Calcaneum (IV) Longest bone of the body

Choose the correct answer from the options given below :

1

( A)-(), B)-(Ii), (Q-(v), (D)-(I
(2
(

) (A )
) (A, B)-(V), (©)-(1), (D)-(Hn
3) (A)-(V), (B)-(n, ©-(), D)-(1
@ (A, B)-(0), Q-(V), D)-(11

Question Number : 25 Question Id : 133327145 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 26 Question Id : 133327146 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which Dasanadi is involved in the motor activity of Spinal cord?

(1) Siguvai (2) Sulumunai
(3) Sangini (4) Purudan

Question Number : 26 Question Id : 133327146 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 27 Question Id : 133327147 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Which one of the following food substance have the characteristics of Rajo Gunam?

(1)  Radish/Mullang (2) Cuscus/Kasakasa
(3)  Onion/Vengayam (4) Coconut/Thenkai

Question Number : 27 Question Id : 133327147 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 28 Question Id : 133327148 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

How much is the time delay in transmission of pulse in Radial Artery?

(1)  0.02 second (2) 0.08 second
(3)  0.07 second 4) 0.04 second

Question Number : 28 Question Id : 133327148 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 29 Question Id : 133327149 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

In which condition excessive secretion of hydrochloric acid is found in the stomach?

(1

(
(3
(4)  Cushing's syndrome

Sjo gren’s syndrome

(]

)
) Hyper salivation
)

Zollinger-Ellison syndrome



Question Number : 29 Question Id : 133327149 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

5 mlaneouiley @englienuuile) 25& yemey enamL CrmEGarmila gl
5556 STaLILH&Ems?

(1)

(2) ML F6060G66] 6T
(3)

@)  @eadm e Cpmb

G & Qreine Fevor Cmid

Germedlminn erebedlavedr Flasort Grmid

Question Number : 30 Question Id : 133327150 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

What are the characteristics of “Frohlich Syndrome"?

(1)  Viropause (2) Crypto orchidism
(3)  Obesity and hyper gonadism (4) Obesity and hypo gonadism

Question Number : 30 Question Id : 133327150 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 31 Question Id : 133327151 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Given below are two statements

Statement| ~ : Pitha Sethuma naadi is not a thontha naadi.
Statement Il . Vikkal, Iruthrogam, Karappan are the symptoms of deranged pitha
sethuma nadi.

In the light of the above statements, choose the correct answer from the options given
below :

(1)  Both Statement | and Statement Il are true
(2)  Both Statement | and Statement Il are false
(3)  Statement s true but Statement Il is false

(4)  Statement | is false but Statement Il is true

Question Number : 31 Question Id : 133327151 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 32 Question Id : 133327152 Question Type : MCQ Option Shuffling : No



Correct Marks : 4 Wrong Marks : 1
Match List | with List Il ;

List | List I
Hormone Action
(A) Somatostatin yy (Il  Suppresses the appetite
(B) Peptide (I Inhibits the gastric motility
() GLP2 (I) Inhibits the secretion of growth
hormone
(D) Cholecystokinin (IV) Inhibits the gastric secretion and
motility

Choose the correct answer from the options given below :

(1 (A, B)-(1), ©-(v), D)l
(2)  (A)-(V), B)-1), -, ©)-(0)
() (A, B)-1v), -0, ©)-0)
(@) (A1), B)-(N), [©-(i, (O)-(V)

Question Number : 32 Question Id : 133327152 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 33 Question Id : 133327153 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

What are the constituents of space element in Pancha bhootha Koorugal [Purakkaruvigal]?
(A)  Fear

(B)  Sleep

(C)  Shyness

(D)  Lying down

Choose the most appropriate answer from the options given below :

(1) (B)and (D) only
(2)  (A)and (D) only
(3)  (Ayand (C) only
(4)  (A)and (B) only



Question Number : 33 Question Id : 133327153 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 34 Question Id : 133327154 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

What are the symptoms caused by suppression of sleep which is one of the 14 urges?
(A)  Biramai

(B)  Thalaikanappu

(C)  Sevidu

(D)  Kannothal

™M 2

(E)  Annam seriyamai

Choose the correct answer from the options given below :

(1

) (A)(B)(
(2) (B, (D), (E) only
(3) (D). (B), (A) only
4 (8),(C), (D) only

Question Number : 34 Question Id : 133327154 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 35 Question Id : 133327155 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Assertion (A):  "CRUSH SYNDROME" is a symptom of Traumatic shock leading to Renal

failure.

Reasons (R):  Myoglobin and toxic substances released from the affected muscle

damage renal tubules resulting in Renal failure.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

()  Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3)  (A)istrue but (R) is false

(4)  (A)is false but (R) is true



Question Number : 35 Question Id : 133327155 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 36 Question Id : 133327156 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following causes the Pleomorphism and involution forms?

(1)  Defective protein synthesis (2) Defective DNA synthesis

(3)  Improper cell division (4) Defective cell wall synthesis

Question Number : 36 Question Id : 133327156 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 37 Question Id : 133327157 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following disease is caused by Bacillus cereus?

(1) Skin lesions (2) Respiratory diseases

(3)  Food poisoning (4) Gastrointestinal disorders

Question Number : 37 Question Id : 133327157 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 38 Question Id : 133327158 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following cells are a single type, capable of continuous and serial
proliferation?
(1) Diploid cell strains (2) Human amnion cell culture

(3)  Primary cell cultures 4) Continuous cell lines

Question Number : 38 Question Id : 133327158 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 39 Question Id : 133327159 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Based on the morphological form, which one of this is classified as “Yeast-like fungus".

(1)  Histoplasma capsulatum (2) Dermatophytes

(3)  Paracoccidioidomycoses (4) Candida albicans

Question Number : 39 Question Id : 133327159 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 40 Question Id : 133327160 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following is not a method of Moist Heat sterilization?

(1)  Bailing (2) Autoclave
(3)  Hot Air Oven (4) Pasteurization

Question Number : 40 Question Id : 133327160 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 41 Question Id : 133327161 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Choose the plant prohibited to export from India

(1) Cycas beddomei (2) Terminalia arjuna

(3)  Stercufia urens (4) Terminalia paniculata

Question Number : 41 Question Id : 133327161 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 42 Question Id : 133327162 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

The percentage of Sennosides present in Indian Senna

(1) 2.5% ) -35%
(3) 4.5% 4 55%

Question Number : 42 Question Id : 133327162 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 43 Question Id : 133327163 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

What chemical kills the eggs of herbarium beetle?

(1)  Mercury (2) Arsenic
(3)  Carbondisulphide (4) Carbontetrachloride

Question Number : 43 Question Id : 133327163 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 44 Question Id : 133327164 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Insert Stem: Choose the correct statements about Hemidesmus indicus

A)  Indian Sarasaparilla is Hemidesmus indicus
B)  Hemidesmus indlicus roots are used in urinary disorders

(
(
(C)  Itis asubstitute of Decalepis hamiltonii
(D)  Belongs to Apocynaceae family

Choose the correct answer from the options given below :

(1) (A) and (B) only

(2)  (A)and (C) only

(3)  (A), (B) and (D) only
(

(4) B) and (C) only

Question Number : 44 Question Id : 133327164 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 45 Question Id : 133327165 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
(A) Persian Lilac () Limoma acidissima
(B) Wood Apple (I)  Adenanthera pavonina
(©) Geocarpic fruit () Melia azedarach
(D) Red seeds (IV) Arachis hypogaea

Choose the correct answer from the options given below :

(1) (A)-0), (B)-), (©)-(lH), ©)-(v)
(2)  (A)-(), B)-(), (Q)-(v), (D)-(I1)
(3) (A, B)-(V), (©Q-(), (D)-(I)
4 (A)-0), B)-(V), (C)-(l), (D))



Question Number : 45 Question Id : 133327165 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 46 Question Id : 133327166 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Herb having astringent action

(1) Prickly chaff/Nayuruvi (2) Indian acalypha/Kuppaimeni
(3)  Datura/Oomathal (4)  Indian Mulberry/Nuna

Question Number : 46 Question Id : 133327166 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 47 Question Id : 133327167 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



The drug used in preparation of silai thailam

(1) Manosilai (2) Sathilingam
(3) Miruthar singi (4) Kaantham

Question Number : 47 Question Id : 133327167 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 48 Question Id : 133327168 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

The main raw drug used in the preparation of impooral vadagam

(1) Kadugu (2) Thippili
(3) Milagu (4) Chukku

Question Number : 48 Question Id : 133327168 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 49 Question Id : 133327169 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

The bio product used for kayasiddhi

(1) Cow's urine (2) Human urine

(3) Elephants urine (4) Donkey's urine

Question Number : 49 Question Id : 133327169 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 50 Question Id : 133327170 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

The number of days for grinding in the preparation of Sivanaramirtham

(1) 11 days (2) 8days
(3) 7days (4) 5 days

Question Number : 50 Question Id : 133327170 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 51 Question Id : 133327171 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled
as Reason (R).

Assertion (A):  The chronic diseases treated by mercury is cured by Serankottai

Reasons (R):  Serankottai is used in the medicine preparation only after purification

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3)  (A)is correct but (R) is not correct

(4)  (A)is not correct but (R) is correct



Question Number : 51 Question Id : 133327171 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 52 Question Id : 133327172 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



The components of Thiri llavangam are

A) Kirambu
B) Agil
) Sirunagapoo

(
(
{C
(D)  Shenbagapoo
(

E) Shathipathiri

Choose the correct answer from the options given below :

(M (A), (G, (B) only
(2 (©), (D), (A) only
(3 (A), (B), (D) only
(4)  (A) (B), (D) only

S’ e’

Question Number : 52 Question Id : 133327172 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 53 Question Id : 133327173 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement|  : Padu, Istigai are the synonyms of Navacharam [Ammonium Chloride]

Statement I - Navacharam in excess dose causes diarrhoea

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1)  Both Statement | and Statement Il are correct
(2)  Both Statement | and Statement Il are in correct
(3)  Statement | is correct but Statement Il is incorrect

(4)  Statement s incorrect but Statement Il is correct

Question Number : 53 Question Id : 133327173 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 54 Question Id : 133327174 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Along with Nochi leaves, the other ingredients of Nochi Kudineer are

A)  Poondu
B) Milagu

D)  Thippili

(
(
(O  Kammaru Vetrilai
(
(E) Chukku

Choose the correct answer from the options given below :

(1
(2)
(3)
(4)

(©), (D), (E) only
(©), (D), (A) only
(B), (©), (D) only
(A), (B), (C) only

Question Number : 54 Question Id : 133327174 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 55 Question Id : 133327175 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
(A) Thinai arisi () Reduces vayu and strengthens body
(B) Thinai kanji (I)  Eliminates Kapham
(C) Thinai saatham (Ill)  Strengthens body
(D) Thinai maa (IV) Eliminates dropsy

Choose the correct answer from the options given below :

(1) (A)-0v), B)-(IN), (©-(1), (D)-(II)
(2)  (A)-(, B)-(v), ©)-(1), (D)1
() (A)-(I), B)-(, ©)-{), )-0V)
@ (A0, G-, @), D)-(v)

Question Number : 55 Question Id : 133327175 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

LIL1QUI6) el UL 19 wie) [-WLer QTSI :

List | List Il
A Glanar ofld) ) amy CuTEE, QT
CLHSHGD
(B) Hemer sEHE () Wb HEELD
Q) Slemer FMHLD () 2 L6v euedremin
D) Glemenr Lom (V) efgsb epuilsgh

e eamhassiul(eer  gilWhsaldmha sflwmar  uEmes
CEHTHOGHHHLD :

(1) (A-0v), @), (©-(1), D)1
(&) (A)-(II, (B)-(V), (C-(1), (D)-(If
() (A, (B)-(1), (©)-tmn, (O)-(v)
@ (A0, B)-(N, [©-(m, O)-(v)

Question Number : 56 Question Id : 133327176 Question Type : MCQ Option Shuffling : No



Correct Marks : 4 Wrong Marks : 1

How many number of “Varati” (cow dungs) are used for “Kowthari Pudam"?

(1)  ten varati (2) one varati

(3)  three varati (4) fifty varati

Question Number : 56 Question Id : 133327176 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Qaars Tl LSS M@ CaHemauliL(HID 6UTL LY 61585606077

(1) ussarLy (2) 6@ eurL1g
(3)  eLDEOTMI QUITLIQ (4) SbUZ TLIY

Question Number : 57 Question Id : 133327177 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled

as Reason (R).

Assertion (A):  “Ganthi Melugu" is one of the Araippu Melugu.

Reasons (R):  Ganthi Melugu is used for Siruneeraga noigal.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3)  (A)istrue but (R) is false

(4 (A)is false but (R) is true

Question Number : 57 Question Id : 133327177 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



g0 @ream® yPlsmesam Q&TEHE&ELILL BT Qarm Shm (A)
eTeTmILD LHQMmETM S&mesorid (R) eredrmd QUi L & :

SHhmA):  0s65 QWG ALY QWE UM&SMWE CETHESTEL0.

sryerd R): G&6S QUWE Fmibrs CHITLSEREE ALRSLILHSDS

GG 26T YNEMEHEHHES, ~— B  Q&THE&SLILL (6T

eUluhsalemna s QurmssITar LSMaE 657 H0S[H&SHLD:

(1) (A uHmd R) @rew@n sflwmareme LOHMID (R) earLg (A) @
grilwuner ellargsLh

2 (A wohod R) @reaorhHin Frlwmearene Juarma (R) e (A) @)
grilwuner ellats:sin 316060,

B) (A srflwrerg auerme (R) SeuMTens;
@) (A summerg guerme (R) siflwmeans

Question Number : 58 Question Id : 133327178 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
(A) Koda Soori kuligai + Ginger juice () Vettai
(B) Koda Soori kuligai + Sugar (1)  Kaasam
(C) Koda Soori kuligai + Buttermilk (1)  Athisarasuram
(D) Koda Soori kuligai + Thamarai (IV) Thaga suram

poocharu

(E) Koda Soori kuligai + Aruganver (V) Janni
Kasayam

Choose the correct answer from the options given below :

(M A)-aD, B)-0), (O-(V), (D)-(V), (B)-(I11)
(2)  (A)-V), B)-(lI), (C)-(), (D)-), (B)-(V)
(3)  (A)-(V), (B)-(IV), (O)-(i), (D)-(1), (E)-(1)
4)  (A)-0), B)-(I), (C)-(V), (D)-(IV), (B)-(T)

Question Number : 58 Question Id : 133327178 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



LILLQ 6D emw L 19 wie) [-wLeir QUIThe &is:

LI 1Q U6V | LI 1QuI6v |l
A CarLnglgaflans + @eFFFmmiled ) QeuLlenL
B) CarLn@ileaflans + srssmamyuile () &g
() \\Emy &b

(
(
() GamngHgaflas + Gl
D) CarLnggaflas + oy weammaile (V) &n& &I
(

) GCarLngflGalas + Simpsarca sFmussen (V) gerel

G0 Qamhssuul@eer  alguunseldmbs  sflwmar  LSmOE
AL QLT E

(1) (A, B)-1), ©-v), D)), (E)-IT)
(&) (V). @)=, (-, ©)-(1), E)-(v)
(B)  (A-V), B)-V), (©-(II), (O)-10), (B0
@ (A0, @), ©-(v), O-(v), B

Question Number : 59 Question Id : 133327179 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

How many number of raw drugs are added in the Nilavembu Kudineer?
(1) 10rawdrugs (2) 7 raw drugs
(3)  11rawdrugs (4) 9 raw drugs

Question Number : 59 Question Id : 133327179 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

BlevCeudl GBIl CoF@mLID FIaE 6T QIS G 615 8560)60T?

(1)  USE FIHGSH6T 2) gD FIEHGSH6T
3) UGG FI&E &6 @) QRETLIS EJ5EG&6T

Question Number : 60 Question Id : 133327180 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Match the following :

List | List Il
(A) Qoral Kudineer () Santhanaooral Kudineer
(B) Boiled decoction (I Nilavembu Kudineer
Q ) Boiled decoction () Kabasura Kudineer

1 (IV) Aavarai Kudineer

(D) — Boiled decoction

— o

() — Boiled decoction (V) Nerunjil Kudineer

12

Choose the correct answer from the options given below :

(1) (A1), (B)-(IN), (D)-(IV) only
(2 (B)-(, (O)-(llN) only

(3)  (Q-(m), (D)-(Iv) only

@ (©®-V), (A-0) only

Question Number : 60 Question Id : 133327180 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



LIL 196D Femil UL QW6 [HUL6T QUT(HESIS:

List | List Il
(A) 2am6) GLH () &HGT 20760 GWH
(B) Q&MHEs maussLGGL G () Bty Guby

1 . ; : : ; '
O &8s mage UOGD 64 () &UETE G4 b

1 : . . , : -
D) - Q&TBEs ase LOGD G5 V) SyauTane Gl by

| - Q&nBEs mase LEED 6L V) OpEEFD GLHT

gCw QsmhssLLL@der  ellUGsalldehs Fflumar ULSmE
CHIHESHESLD

(1) (A-(), B)-(), (0)-V) oL (o

) (A
) (-, (C-(N) LG
(3) (-, (D)-IV) LD
4 (©-V) (A)-) LLEW

Question Number : 61 Question Id : 133327181 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Match the following :

List |
(A) Internal Decoction 0
(B) Gargling Decoction an
(C) Enema Decoction an
(D) Washing Decoction V)
(E) For Medicated oil Decoction V)

List Il

Lt Ll Rl O i L

Choose the correct answer from the options given below :

(1 (A=), (B)-(V) only
(2  (D)-(V), (B)-(V) only
(3)  (©-(m), (B)-(I) only
(4)  (B)-(I), (A)-(1) only

Question Number : 61 Question Id : 133327181 Question Type : MCQ Option Shuffling : No

Correct Marks : 4 Wrong Marks : 1



LIL LG WI6V 6w LIL 1 Wwe) [-wL e QUT[h581&:

LIL 1916V | LC1quwed Il
(A) 2.6TEH5E LGOI GYhY o L
8
B) QaruuailEEh GObT () 3
16
Q Use@uhy (1) 1
18
D) &wed GYby v L
8
(E) WDEHS O G by V) L
4

g0 Qer@ssuulperer  GUlWhsaldpha  sflumar UHMLE
CHIHOSHHHSED :

(1) (A-(), (B-(V) LLEWD
@ O-V), BV LLELWD
3)  (@-m, (B)-) LED
@ BN, (A-) LEWD

Question Number : 62 Question Id : 133327182 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Find out the correct pairing:-

List | List |l

(A) Panjakaviyam Cow milk, Cow Curd, Cow butter,
Cow urine, Cowdung

(B) Panjamoolam Chukku, Perarathai, Kanduparangi,
Sithiramoolam Seviyam

(C) Sirupanjamoolam Atthi, Arasu, Aaal, Poovarasu Vanji

(D) Perumpanjamoolam Vilvam, Munnai, Peruvagai, Pathiri,
Kumizham

Choose the most appropriate answer from the options given below :

(1) (A), (), (D) only
(@) (C), (A), (D) only
() (), (D), (C)only
) (A, (B), [Conly

Question Number : 62 Question Id : 133327182 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



giflwmer Gemgemw &euorLmlweyL :

LIL 196D | LILLQWwe |l

(A) ULEHFSHAIWILD L& Lume, L&BhsW,
LIgQleugiorQlemrii, Gamudlwid,
L1 5+ (h& T LD

(B) LEHFeLNGLD 558, CUTTGMS, SR,
FEETeeD Greueiiuih

O nuEsapLD SIBH), A8, 26, LS,
6UEHF

(D) QUBLEHEPNMLD alléueuLd, (LEDTEnED, GILITHEUMENS,
ungil, @l

&0 Qamhssuul@eaer  aleugrsaldesa  sflumar LSS
CEHIBESHH GBS :

(1) (A), B), (D) LD
() (C), (A), (D) LD
(3) (8 (D) (O wLEW
(4) (A, B), QL

Question Number : 63 Question Id : 133327183 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which Guhai is prepared using excreta of donkey?

(1)  Pancha bhootha Guhai (2) Pancha Chunna Guhai
(3)  Urukku Guhai (4) Vajra Moosai

Question Number : 63 Question Id : 133327183 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

500G V5G CFI58 QFWLILGID &S 6151?
(1) UEHFLLS GHN& (2) LIEHTF 5-600T600r (5605
() 2B56 GMs (4) gy s



Question Number : 64 Question Id : 133327184 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

While consuming this medicine, it is beneficial to take bath with Ashwaganthi Thylam

(1)  Parangi Pattai Rasayanam (2) Gandaga Parpam

(3)  Karisalai llagam (4) Asta Bairava mathirai

Question Number : 64 Question Id : 133327184 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

@O6S WHHS 2 LQETEHD STUSHN, AFUSEHH MEOD C5UIHS
GeflliLg SmLiy

(1) uPASL ULML gFmwerd () Sb5&S LMuL

) sflEmame @ersih (4) 9L enuTel LTSS

Question Number : 65 Question Id : 133327185 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which of the following are adulterated using Lantana indica seeds (UNNI)?

(1) Flax seeds (2) Pepper
(3)  Mustard (4) Sabja Seeds

Question Number : 65 Question Id : 133327185 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

o grenfl QEuiler ellengsamer G)5ME LS NE HLILLLD QF W& ey

(1) e llens @) Harg
B &0 @ sigrdog

Question Number : 66 Question Id : 133327186 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which bootham divides the fertilized Zygote into Thathu and Dosham?

(1)  Fire (2) Air
(3)  Earth (4) Water



Question Number : 66 Question Id : 133327186 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

6Th& LLGLD S([Hemel &gl MM CamaginmsLll LiflaeeLn?

M & (2) eumwy
(3)  LDevOT 4) By

Question Number : 67 Question Id : 133327187 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which is indicated by the passage of milky white urine?

(1)  Tuberculosis (2) Fever

(3)  Poisoning (4) Dryness of the body

Question Number : 67 Question Id : 133327187 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

umeLGuImedray @Oluh BT eTem s GQeueaflliLh&s1n?

(1) g=qui GBmuI 2 &g9rb
3) ellagLh 4) 2.6V 2 6056V

Question Number : 68 Question Id : 133327188 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
(A) 7 inch of manikadainool () Gunmam
(B) 8 inch of manikadainool (1)  Haemtemisis
(C) 9 inch of manikadainool (1)  Aversion to food
(D) 10 inch of manikadainool (IV) Smoky vision

Choose the correct answer from the options given below :

(1) (A)-(), B)-(IV), (O-(I), (D)-(ID)
(2) (A=), (B)-(I), (©)-(), (D)-(IV)
(3)  (A)-(IV), (B)-(I), (O)-(1), (D)-(IN)
4 (A=), (B)-(, (Q)-(V), (D)-(1)

Question Number : 68 Question Id : 133327188 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

LI IQUIG) 6mu LI 1q Ui -ujL6r QUITHS SIS :

LIC QLI | LIC 1LY |
A 7 m@GeD eanflssEamL mrevate] () Geriow
() Qués aurps
0 9m@eD weanllssmL revate) () 2_qre) QeumiLiL
(

D) 10 MG Da&EEmL Frevere) (V) &L m&sEF6

)

(
(B) 8 ZyMiIE6LD LOGHI15:EEmL HT6V6Ta)
(
(

g0 Qen@ssuulpeaer Ul saldmhs  sflummr UGMOG
CaIHESHHHALD :

A)-(1), B)-(1v), (©-(l), (D)-(11)

A)-(11), (B)-(l), (C)-(1), (D)-(IV)

A-(IV), (B)-(lIh), ©-(1), (D)-(11)

A)-(11), (B)-(lN), (C)-(1V), (D)-(1)

LI
@
B
@

Question Number : 69 Question Id : 133327189 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Choose the correct answer :
A)  Vatha pitha Thontham is the cause for piles
B

p

Vatha Kutram is the root cause for pain

(
(
(C) Pitham is the root cause for hiccup

(D) Kabam is the root cause for Gunmam

Choose the correct answer from the options given below :

(1) (A) and (D) only
(2) (B) and (C) only
(3) (A) and (B) only
(4) (D) and (C) only

Question Number : 69 Question Id : 133327189 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

giflwrer allenLemws CaIHO5M0 :

A)  aeCHTL uy sl LIGsI0 QsTHSILILICSE STrerid
B) eumg GHMOL Gameauller smerid

O Y5500 ailaselar pass e

D) UG GETGSIET CLNEIE STIT6urLD

g0 Qanpésuul@eer  lUhsdmns  sflurar LG MG
CEHIHOSHEHSHMLD :
1)

( A) DHMID (D) DL (HID
()
(

(
B) ommutd (C) DL (D

(

( )
3)  (A) OO (B) 0L HId
@ (0) Hmud (€ LG

Question Number : 70 Question Id : 133327190 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



In which type of fever, there will be herpes like blisters in nostrils?

(1)  Venjuram (2) Ulla suram

(3) Meni suram (4) Senkarai suram

Question Number : 70 Question Id : 133327190 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

a8 TGS GIGSILAT AN5EGS el 2&E Cumenn Q& TLILeTmIG6T
gouHID?

(1) QeuEh&TID (2) 2.6T6r &0

3) Guerlsrd 4) QFmsmy &b

Question Number : 71 Question Id : 133327191 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which disease is called as mozhukkan?

(1) Kadukammai (2) Milagammai
(3) Kollammai (4) Upputhari ammai

Question Number : 71 Question Id : 133327191 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

GILOIMLD & G607 6T60T BJeMLD&S UL GHITW 61517

(1) &{H&WDenn (2) lersemin
(3)  Q&ITET ByLDemLD @) 2 uysifl 9o

Question Number : 72 Question Id : 133327192 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Arrange the following :

A) Sutha Suram

B Kanthatha suram

L

(
(
(©) Nangam murai suram
(D) Kayum suram

(

E) Moondram murai suram

Choose the correct answer from the options given below :

(1 (A), (B), (D), (EB), (C)
(2)  (B), (A), (D), (E), (C)
3) (D) (A), (B), (E), (C)
4)  (B), (D), (A), (B), (C)

Question Number : 72 Question Id : 133327192 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

LSl (meuemeu e 62 (0MISMLNESHELD ;

(A &858 &

B) &bHSS &I

(O BIETHITD (NEN &iD
(D)  &mub &b

£ epermmd (en &I

G0 Garpssiul@aer  GoluGsalldmba  Fflumar UGG
CHTHOSHHHSHALN :

(1 (A),®), D)6
() (), (A) (D) (B QO
3) (D) (A)®), € (€
@ (B) (D) (A), (E). (€)

Question Number : 73 Question Id : 133327193 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement|  : Asuvavatham causes contraction of penis

Statement Il * Thanthira Vettivatham affects the scrotum

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1)  Both Statement | and Statement Il are correct
(2)  Both Statement | and Statement Il are incorrect
(3)  Statement | is correct but Statement Il is incorrect

(4)  Statement | is incorrect but Statement Il is correct

Question Number : 73 Question Id : 133327193 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

INGEME | & UTHESTE arE N & (HES SO

aflsms |l sHHT Gl aTsD Alarsamer LTH&ELD

GG  ogter  gyMflsmasale, B0  QasmH&sLUL(HeTer
eluihseflimha Weah QuTmSsImaT LGmas CEIHasH&EL ;

(1) aflsams | pmin ynfleams Il @par@d &iflwmeameney
2 2Ml&Ema | HmiID M&EE || @ramHiD &elprears)
B)  cml&Ems | Fflwmears aperme 9yflsms || &eummears|
@  anl&Ema | saummars auerme yiflsams I Flwmers

Question Number : 74 Question Id : 133327194 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Among the following seasons which season falls under Aathana kaalam?

(1)  Kaarkaalam, Munpanikaalam

(2)  Pinpanikaalam, Muthuvenilkalam
(3)  Munpanikaalam, Pinpanikaalam
(4)  llavenilkaalam, Koothirkaalam

Question Number : 74 Question Id : 133327194 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

& LD 5 556007 L_6U (M MIGT 6THS SITEVLD 4GB HTVSHI60 L MIGLD?

(1) &TI&TEILD, (LPEOTLIET &TeVLD

2)  Ueruenfl smeuld, (LpsiGeusdfley smeuld

3)  wedruiefl &meuld, LilerLiesf] &meuLd

4)  @erGeuenilev HTeVLD, Fon B FEHTEILD

Question Number : 75 Question Id : 133327195 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

In which months one should do exercise and take oil bath with vathathailams after getting
up from sleep?

(1) Aavani, Puratasi (2) Maasi, Panguni

(3)  Chithirai, Vaikasi (4) Maarkazhi, Thai

Question Number : 75 Question Id : 133327195 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

auUldowbsan 2 LoulDs CFs, QTSSMSL  CUTEHSSEmU
MEGORGME CHISEIE GarlHa ColamqLL DMEHISET ea6u?

(1) syeuemfl, Yyl L@ () 0re, ukge
B3) F&Hor MausTH @) s s

Question Number : 76 Question Id : 133327196 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Arrange the following medicines which are prescribed for normal delivery in Pararaasa
sekaram according to gestational period.

Muthakkasu, Vilampinchu, Neitharkizhangu

Kacholam, Amanakkuver, Neitharkizhangu

Saaranaikizhangu, lluppaipoo, Neitharkizhangu

Muthakkasu, Inji, Neitharkizhangu

m o o = P

Seenthirthandu, Nilappanaikizhangu, Neitharkizhangu

Choose the correct answer from the options given below :

(1) ABCDE () BADEC
) DECBA 4 CDAEB

Question Number : 76 Question Id : 133327196 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

STUUD LrensssCsn® ety urrretssrn ulilpn nmbsisamer
STLILGTO MG RIG6T ULl afldsiunss)s :

(WN&55E&TE, llaTmdllEhs, QB LSHHOME

5ECEmeLD, QynemTs:GCar, QBLGSH MG

FI6GHEL0MmG, GaLMmULIL, QBLUSHS ImE

WE&&ETE, Q6 ABLSDHNHE

EBEIDSEME, BlOLLMATEEILREE, ABLISDE PRE

m o 0o = >

g0 Qarhssuulpaer  @oluGsaldens  sflurar  LHOMOE
CHTHOSH HSHAD :

(1) ABCDE 2) B,AD,EC

3) DECBA 4 CDAEB

Question Number : 77 Question Id : 133327197 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
Thisal Arai
(A) West (I)  Thanathania kalanjium
(B) North ()  Pasuthozhuvam
(C) Northwest (1) Pusikkum arai
(D) Southeast (IV) Samayal pannnumidam

Choose the correct answer from the options given below :

(1) (A)-(), B)-(I), [©)-(I1), (D)-(V)
(2) (A=), B)-(1), (C)-(), (D)-(IV)
(3) (AN, B)-(I), (C)-(V), (D)-(1)
4 (A)-(V), B)-(1), [©)-(0), [O)-(n)

Question Number : 77 Question Id : 133327197 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

UL QU0 | - emw UL 1guwied Il - WL 6T QUThSeE1s :

LIC1QuleD | LIL1QuieD I
0 L)
A) G () sersmaus HemEFwLD
B) QLEG () UHSQSTDEULD
O aLCuhHE () UPEEGL oM
D) QBETELGE (IV) sannwey LigTramyLalL LD

G0 Qarhssuulperer  GUUGsedlEEs  sflumar  UHMOS
CaHIHOSH&HSHMD :

(A)-(1), (B)-(IT), (C)-(I1), (D)-(IV)
(A)-(I11), (B)-(1), (C)-(If), (D)-(IV)
(A)-(11), (B)-(lI1), (C)-(IV), (D)-()
(A)-(IV), (B)-(I1), (©-(1), (D)-(1n)

(1)
(2)
G)
4

F
B



Question Number : 78 Question Id : 133327198 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which of the following is related to Shapiro rule?

(1) Adipocere (2) Rigor mortis

(3) Decomposition (4) Mummification

Question Number : 78 Question Id : 133327198 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

BLnggeaorLeummier FriLCrT Q& meTans &L 6T QGTLTLINLLISI?

(1) QUWE CUTE LLTSH6

2)  Newor ellemmLILIG &eTenin

(3)  LAeworid W& GH6)

@)  Ulewrid 2 eiha 26ve0g eumesor(n CLmse6)

Question Number : 79 Question Id : 133327199 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Pseudocyesis is found in

(1)  Young married women (2) Aged unmarried girls

(3)  Menopausal ladies (4) Adolescent girls

Question Number : 79 Question Id : 133327199 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 80 Question Id : 133327200 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



‘Vaccine' is categorized under which schedule of Drugs and Cosmetic act rules 19457

(1) Schedule E (2) Schedule F
(3)  Schedule H (4) Schedule L

Question Number : 80 Question Id : 133327200 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

IDBHHS DOHMID ANNGFTHET FLLID 1945-60 sHULE a5s Lflallar i
N &LILMHSSLILL (HeTers)?

1) QaqluE Q) QgL uaF

B) GaglwdH @) Ganl wdl

Question Number : 81 Question Id : 133327201 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

List out the following post-mortem changes in ascending order according to the onset :

Rigor mortis
Adipocere
Cooling of the body

Putrefaction

RE - A B

Post-mortem hypostasis

Choose the correct answer from the options given below :

(1) EDCBA @) ABCDE
B BCEAD 4 CEADB

Question Number : 81 Question Id : 133327201 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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QLG LLIS6 Hleney

Uleworid @erfljeuenL g6y
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Ulesor plm mmim)

g0 Qempssuul@erer gl saldmns  Flumar UGG
6CaHTHOSHHHLD :

(1 EDGBA (2 ABCDE

B8] BGCLEAD 4) CEADB

Question Number : 82 Question Id : 133327202 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
Permanent Tooth Age of Eruption
(A) Lateral incisor ()  10-12 years
(B) Second molar () 7 -9 years
(©) Second premolar () 12-14 years
(D) Canine (IV) 11-12years

Choose the correct answer from the options given below :

(1) (A)-(V), B)-(I), (Q-(1), (D)-()
(2) (A=, (B)-(l1), (CO)-(1), (D)-(IV)
(3)  (A)-(1), (B)-(I1), (C)-(I), (D)-(IV)
4) (A1), B)-(), (©)-(), (D)-(IV)

Question Number : 82 Question Id : 133327202 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



LILLQWED | - e UL QW6 Il - WL6T QUT(HSH SIS :

LILLQWeV | LILLQWe |l
Bl6mQUWLITEN LI LI6) (NEMeT&HGLD aulLg
A) UGSHAUTL(H QeuL@bubseT () 10-12 gl
(B) @ yevorLmeug &emleaumit ey () 7-9euwgl
(C) @reorLmeugl (e SemLeum () 12-14 uwigl
LI6y
(D) Gamanru L (V) 11-12 gl

g0 QamhssuuLBder  GrUGsdehrs sflumar uSmes
CaIH05HSHaLD:

(1) (A-(V), B)-(lIh, (€)-, (O)-

] | I
(&) (A)-(l), (B)-(1), (C)-(1), (D)-(IV)
(3) (A, (B)-(ID), (C)-Cl), (D)-(1V)
(4) (A, B)-(lH), (C)-(0), C)-IV)

Question Number : 83 Question Id : 133327203 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Following are the primary effects of oxalic acid in humans :

A.  Work as a nutrient supplement enhancing calcium absorption
B Locally corrosive to skin and mucosa

C Induces cardio vascular shock and leads to death

D.  Causes of hypocalcemia by extracting tissue calcium

E Leads to renal system failure and uremia

Choose the correct answer from the options given below :

(1)  AandBonly (2) A B, CandEonly
(3) A DandEonly (4) B,C,DandEonly

Question Number : 83 Question Id : 133327203 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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(3) A DM E L HID (4) B,C DM E LRI

Question Number : 84 Question Id : 133327204 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

In which of the following star when fever occurs leads to mortality?
(1) Hastham (2) Ayilyam

(3) Poosam (4) Pooram

Question Number : 84 Question Id : 133327204 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 85 Question Id : 133327205 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Which disease is cured by Aththikkal (Toddy) with peyan pazham ooral neer?

(1) Gunmam (2)  Kulir suram

(3)  Anthaga sanni (4) Vellai noi

Question Number : 85 Question Id : 133327205 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

31555 semertle) CLWET LGS 281 eIsS Henrs & S CHmll 6gl?
(1)  @ero ) @afljsm
B) SH5E Farell 4) GeuaTemer GBI

Question Number : 86 Question Id : 133327206 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which disease is treated by sembu parpam with punugu?

(1) Chronic Gunmam (2) Chronic Soolai
(3) Chronic Sobai (4) Chronic Cough

Question Number : 86 Question Id : 133327206 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

QEFDL UMHUSSHIL6T LG sal 1 Q&THESS SHD CHITU 61517

(1)  BTLULL @60roL0n (2) BILULL @606
(3) BILULL GFmenL (4) BILULL @@mLey

Question Number : 87 Question Id : 133327207 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which of the following soolai is incurable?

(1) Ukkara Soolai (2) Thoora Soolai
(3) Pakka Soolai (4) Sura Soolai

Question Number : 87 Question Id : 133327207 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



GBS HE00TL (@eM6VE6T60 615 SImsl?

(1) 2. &&07 @06V (2) &My @606V
(3) USHSEH GeNe6V 4) & Geh6V

Question Number : 88 Question Id : 133327208 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which disease causes crow's eyes like eyes and monkey's ears like ears?

(1) Veri Noi (2) Soolai Noi
(3)  Sobai Noi (4) Ulaimanthai

Question Number : 88 Question Id : 133327208 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

SHNEIN GUTE) FMIIAUTET SHevorenetorld, GIm@G GUme) GOMhE ST
gOUHSEID GBI 6157
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Question Number : 89 Question Id : 133327209 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| ~ : Invatha upagadham, there will be impotence and ear blockage.

Statementll  : Inthis disease, sea tides like buzzing sound will occur in ears.

In the light of the above statements, choose the correct answer from the options given

below :

(1)  Both Statement | and Statement Il are true
(2)  Both Statement | and Statement Il are false
(3)  Statement | is true but Statement Il is false

(4)  Statement | is false but Statement Il is true

Question Number : 89 Question Id : 133327209 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

G610 @\ evor(n) il Gen s a6T 018 m(H &8 LILL () 6TeTe :

ygflsms | - g 2.usgs CHTUIM JUETMING GMDE, STSMLLIL
GUITETEN6Y 2_6H0TLT(GLD.

gflsams il Qe gL Eapgsd Cumarm el @BCHTUl

O GHOTL MG LD.

GG  24tem  gMlemssaie,  BC  QsTEH&SLUL (e
eolUGsaldEha Wesan QUTHSST UGG CHTH0sH &SI :

(1) lsams | nHMID 41fl&sms | @reampin Filwmaramel
2 gnlsams | DOHmD AW &S || @ram@LD SaumTars|
B  aflsams | Fflumears ayerme Ml&Ems | &emmears
@) &M | Heummeng arme) Ml&Ems Il Fflwmers



Question Number : 90 Question Id : 133327210 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled
as Reason (R).

Assertion (A):  "Pakka manthara irumal"” starts before and after Newmoon day.

Reasons (R): ~ When it occurs in post partum women it kills

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2)  Both (A) and () are correct but (R) is NOT the correct explanation of (A)
(3)  (A)is correct but (R) is not correct

(4)  (A)is not correct but (R) is correct

Question Number : 90 Question Id : 133327210 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 91 Question Id : 133327211 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List |
(A) Vembukudineer
(B) Nathai Ney
(C) Maramanjal kudiner
(

D) llavanga llagam

List Il
()  Loss of appetite in T.B.
() Diabetes
() Vali mukkutra suram
(IV) Kazhichal

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(IV), (C)-(lI), (D)-(1)
(2) (A, B)-(1), (Q-V), (D)-(I)
(3)  (A)-(I), B)-(1), (C)-(lI), (D)-(IV)
@ (A, B)-1, (O)-(V), (D)-(1)

Question Number : 91 Question Id : 133327211 Question Type : MCQ Option Shuffling : No

Correct Marks : 4 Wrong Marks : 1
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G0  Qamhssiul@aer  GHUGsadehs  sflurar LG MG

CEIBOSHSSEMD :

(1) (A)-(0), B)-(1v), (C)-(IN), D)-(If)
(2) (A, B)-(1), ([©)-(V), )-(IN)
(3) (A, B)-(), (C)-(Il), (D)-(IV)
(4) (A, @)-(1), ([©)-(Vv), ©)-(1)

Question Number : 92 Question Id : 133327212 Question Type : MCQ Option Shuffling : No

Correct Marks : 4 Wrong Marks : 1



Rearrange the diseases according to their chronic conditions

A. Ratha Peenisam
B. Mulai Peenisam
. Seezh Peenisam
D. Neer Peenisam
E. Siray Peenisam

Choose the correct answer from the options given below :

Ly (AT T (2) D,ACEB
B) DABEC 4 ADBEC

Question Number : 92 Question Id : 133327212 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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g0 Qem@assuul@aer  gUUGsadmhs  sflumar  uGmG
CEHIHOSHHHLD :

(1) DACBE 2] DAGCEB

3] HABREC 4) AD,BEC

Question Number : 93 Question Id : 133327213 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Select the correct statements about Sobai Noi

A.  The medicine for Anasarca is Keezha nelli juice and bedhi uppu
B. In Anasarca testes swell up very big as bag

C.  Apply salt petre and rat's excreta for swelling

D.  AlliKizhangu podi may be given for anasarca

Choose the most appropriate answer from the options given below :
(1) Band COnly (2) BandDOnly

(3) AandBOnly (4) CandD Only

Question Number : 93 Question Id : 133327213 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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(3) AwDHmid B DL (HID 4)  CmHmud D 0L HID

Question Number : 94 Question Id : 133327214 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which disease is indicated for Neichitti Kizhangu sirappu karpam?

(1) Napunjakam (2) Maladu
(3) Neerizhivu (4) Venkuttam



Question Number : 94 Question Id : 133327214 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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(1) BYERFSHD 2) weu
3)  brldley 4) CeuargLLLD

Question Number : 95 Question Id : 133327215 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following leaf juice is used for the bleeding due to trauma in varma
points?

(1) Chandana pulladi leaf (2) Thumbai leaf
(3)  Kalmoongil leaf (4) Aanai Nerunjil leaf

Question Number : 95 Question Id : 133327215 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 96 Question Id : 133327216 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which of the following porridge is served for trauma in "Adappa Varmam"?

(1) Then + Vilvaver (2) Kirambu + Kurunthotti

(3)  Venkayam + Vilvaver (4) Vendayam + Amirthavalli

Question Number : 96 Question Id : 133327216 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 97 Question Id : 133327217 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

The following statements about Varmam and its locations are correct.

A. Kannadi varmam is located in the middle part of Nose.
B. Boomi kalam is located in the palm.

E: Amai varmam is located in the middle part of Thigh.
D.  Cirattai varmam is located in the Knee.

E. Kuthirai varmam is located in the shoulder.

Choose the correct answer from the options given below :
(1) A, BandCOnly (2) A, Cand D Only

(3) B,CandEOnly (4) A, DandEOnly

Question Number : 97 Question Id : 133327217 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 98 Question Id : 133327218 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Are the following statements about muppu are correct?

A)  Breathing exercise is called as Vayu Dharanai

B)  Stimulating Kundalini in yoga practice is called as Anki Dharanai

(
(
(C)  Drinking Somaneer is called as Amuri Dharanai
(D)  Yoga muppu has pungent and salt tastes

(

E)  Vaidhya muppu is also called as ‘vedhal’

Choose the most appropriate answer from the options given below :

(1) (A), (B) and (D) only
(2)  (A), (B)and (E) only
(3)  (B), (D) and (E) only
4)  (A), (C) and (D) only

Question Number : 98 Question Id : 133327218 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 99 Question Id : 133327219 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il ;

List | List Il
(A) Unmaatham () Caused by destruction of udal
thathukkal
(B) Matha Azhivu (Il)  Paithiyam
(C) Cherukku () Arivazhivu
(D) Brahmai (V) Caused by increase in udal
thathukkal

Choose the correct answer from the options given below :

A)-(1), (B)-(IID), (Q)-(11), (D)-(1V)
A)-(V), (B)-(1), (C)-(lIT), (D)1
)
)

—

(1), (B)-(1), (©)-(IV), (D)-(1
A)-(1T), B)-(IIn, ()-(1), (D)-1V)



Question Number : 99 Question Id : 133327219 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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(1) (A)-(1), B)-(lin), (-, (D)-(IV)
(2)

(

(A

(A)-(IV), (B)-(1), ()-(I1h, (D)-(1)
3) (A, (B)-(0), (C)-(V), (D)1
(@) (A, B)-(), (©)-(0), C)-1V)

Question Number : 100 Question Id : 133327220 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled

as Reason (R).

Assertion (A):  If you lift the patient by touching the points of veemanoli and vali oli the
patient will open his eyes and speak.

Reasons (R):  Veemanoli and vali ol are adankal points.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2)  Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3)  (A)is correct but (R) is not correct

(4)  (A)is not correct but (R) is correct

Question Number : 100 Question Id : 133327220 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 101 Question Id : 133327221 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following asanam stimulates thyroid gland?

(1) Batchimothasanam (2) Salabasanam

(3) Sarvangasanam (4) Trikonasanam

Question Number : 101 Question Id : 133327221 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 102 Question Id : 133327222 Question Type : MCQ Option Shuffling : No



Correct Marks : 4 Wrong Marks : 1

“Sun Bath” is best for

(1) Inducing perspiration (2) Vatha associated sanni noikal

(3)  Parkittum sanninoi (4) Kapha noi

Question Number : 102 Question Id : 133327222 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 103 Question Id : 133327223 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following is prepared with rice powder?
(1) Kalimbu (2) Pasai
(3)  Podi 4) Kali

Question Number : 103 Question Id : 133327223 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 104 Question Id : 133327224 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled

as Reason (R).

Assertion (A):  The condition in which pus discharges from lower lid is called as

"Kuvazhai vippuruth’

Reasons (R):  Since the eyes are compared to 'Kuvazhai flower' it is named as

kuvazhai vippuruthi’,

In the light of the above statements, choose the most appropriate answer from the

options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3)  (A)is true but (R) is false

(4)  (A) s false but (R) is true

Question Number : 104 Question Id : 133327224 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



g0 Eran® AMlsEmEs Q&ETHGSUILL(DETETEr: Qa0 Fahm (A)
eTErmILD LMW TeTm STy (R) erermid QuwiflL LUl L& :

HON@A): & Eeouuldmss Fip Qeeafluumn bl “Geuemer
AlLLmS" eremr LMPE&ESLUILHRDS.

SIyeTid (R):  GEOTHET, GeUENAT VMG eULILLUGSTE @UoLwy
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GOluiGsaflemba W QUTHSSLTEr LSS CHTHOSHEHEMLD ;

(1) (A oo R) @reor@®in sflwmearane wHMID (R) aerus (A) Ger

giflwmer ellergesLn

2 (A oo R) @rew@n slwramae auerme (R) ererLs (A) @er
gFrflwmer ellemg:asLn 246060

3) (A srflumearg ayere (R) Heummers
4 (A seupmengl e (R) Fiflwmeors

Question Number : 105 Question Id : 133327225 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement|  : "Madangal' is an instrument used for the surgery in "Naga Padalam”

Statementll  : 'Vilisam'is an instrument used to cauterise in Naga Padalam.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are true
(2)  Both Statement | and Statement Il are false
(3)  Statement | is true but Statement Il is false

(4)  Statement | is false but Statement Il is true

Question Number : 105 Question Id : 133327225 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

G010 @ resor(h) 21066 s s6T G868 LILIL (HETeTe :

Mlems | DLmsG aarn smell Bre: ULsms 2 s el
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GWh seadlmns e QUTESSLITT LSmaG C5TH6 s H 680 ;
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Question Number : 106 Question Id : 133327226 Question Type : MCQ Option Shuffling : No



Correct Marks : 4 Wrong Marks : 1
Which one of the following is the prescribed treatment for THOL THADAIPPUN"?

(1) Kara Maruthuvam (2)  Aruvai Maruthuvam

(3)  Kuruthivangal (4) Deva Maruvthuvam

Question Number : 106 Question Id : 133327226 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

"G ITeV G6ML"LI L|600oT6001 | 1) EIT60T (LD6D) (LLITEOT LO[HE SHI6ULD 6T51?

(1) &7 IDGHSSEID (2) SIDIEm6 DS SIAULD
B) GBS QUTMHIGE @) Cgeu IHSSIEUD

Question Number : 107 Question Id : 133327227 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

What “breath smell” is felt in the Hyperemesis gravidarum?

(1) Ammonia smell (2) Acetone smell

(3) Normal smell (4) Acidic smell

Question Number : 107 Question Id : 133327227 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

"L @6 eumbS) W) HUMESH60 2 erLILIHID HTHMLD 6Tedrenr?
(1) yCwmeflwm FrHMLD 2) G CLmer BIMMLD
(3)  @uebLImenT BTMMLD 4) guilev BTHMLD

Question Number : 108 Question Id : 133327228 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

What is the volume of amniotic fluid in the 10" week of gestational period?

(1) 30ml (2) 60ml
(3) 90 ml (4) 100 ml

Question Number : 108 Question Id : 133327228 Question Type : MCQ Option Shuffling : No



Correct Marks : 4 Wrong Marks : 1
SHEYMM LSS eumpmigefle Lefls@L bifler 2y6me) ereoreor?
(1) 30 ml (2) 60 ml
3) 90ml (4) 100 ml

Question Number : 109 Question Id : 133327229 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

The placenta retains within the uterus beyond ——————— minutes means “retained
placenta”.

(1) 20-30 min (2) 30min

(3) 20min (4) 30-40 min

Question Number : 109 Question Id : 133327229 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

o ——— pllLASEREE G SEUMULICACL G)mBST6
“LergmGiw menw” erarLiLi.

(1) 2030 ghAlLid 2) 30 AL
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Question Number : 110 Question Id : 133327230 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement!  : “Navilugiraen maatham iynthil seviyundagum” - according to

Agathiyar Statement, Ears are formed in 5™ month of fetal growth.

Statement|l ~ : "Aaranthingal varu Nagangalam” - Yugi

As per Yugi's statement Nails are formed at 6" month of fetal growth.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are true
(2)  Both Statement | and Statement Il are false
(3)  Statement|is true but Statement Il is false

(4)  Statement|is false but Statement Il is true

Question Number : 110 Question Id : 133327230 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



GG @rar(h NG &S Q&ETEH &&ELILL (H6TeTer :

plems | 'plGECoar MED  DHHd  QealluyarLmgn” -
garmarm  ssSwWrlar  smOmUug,  wseldr
euarggeuley, 5 uid gD QFall 2 oL mELh.

ANGME | ;" DTHERGET QU HEHRIGETTD" - W)
wasuiler smmmuug, waeiler auergadulled, 6340 s
B&MIGET 2G0T MG LD.
GG  o4der  gflamssaly, €0  QETEE&SUUL (e
eiluhsaladmrg Wesab QurmssLmar LEMmOS CETHASH &S :
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Question Number : 111 Question Id : 133327231 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Choose the correct order of cardinal movements of descent of fetus during normal labour.

(A)  Extension
(B)  Flexion

(C)  Restitution
(D) Internal rotation
(

E)  External rotation

Choose the correct answer from the options given below :

(A), (), (B), (D), ()
(B). (D), (A), (C), (B
(B). (C), (A), D), (B
(A), (). (D). 8), (B



Question Number : 111 Question Id : 133327231 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

&6 @DmEh Cumsd BLEGL &6 WWeLCLUM  BlEDFFEamen
aflsliu(ss 6.

A) B

(B) DLMI&e

O Bese

D) 26T &WnnE
F) Geuafl &L0HE

g0 Qer@assuul@erer  GUUhsaldmhs  sflumar usmas
CaIHOSMH &S ;

(1) (A)(C), B) (D), (E)

() () (D) (A)(C)

)  (B)(C) (A) D), ()

4  (A),(C), (D) B), ()

Question Number : 112 Question Id : 133327232 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

In which book “Poora mathirai” is mentioned?

(1) Agathiyar Ayul Marai (2) Simittu Raththina Surukkam
(3)  Ayothidasar Balavagadam (4) Theran Vagadam

Question Number : 112 Question Id : 133327232 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

BLDGGETL 6TH& HI6Vl6) "L M&SenT” - LM samUILIL ([H6Tems,)?

(1) ASSHWIT SpUleT enD @ S0 r5EamE FHESLD
3) SCWrEHSTED UmNEGELI (4) GCarer eumGLLD

Question Number : 113 Question Id : 133327233 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Disease occuring period for “Singi Mantha Kanam”

(1) Upto 9 Yrs (2) Upto 10-11 Yrs
(3) Upto 12 Yrs (4) Upto 13 Yrs

Question Number : 113 Question Id : 133327233 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

"“FIRIGE IDTHS &600rS &6 CBITUI QIR &STEVLD

(1) 9 QUG eUeMIT (2) 10-11 UGl 6Uel T
(3) 12 euwigl euemiy 4) 13 euwig euemIy

Question Number : 114 Question Id : 133327234 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following disease is incurable?

(1) Ama Kanam (2) Ama Suram

(3) Nachchu Suram (4) Vedi Karappan

Question Number : 114 Question Id : 133327234 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

ECW QamhH&sLUL(Haremaummley 6lbgs GBI HImaE?

(1) &4LD SHevoriD (2) &b &I
(3) BFSH &JID (4) Qeuly SILILITe0T

Question Number : 115 Question Id : 133327235 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled

as Reason (R).

Assertion (A)  :  “"Kaarai Rasayanam” - is given to treat all types of “Kanam".
Reasons(R)  :  The dosage of Kaarai rasayanam is "Payaralavu’; once a day, for
9 days

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A false but (R) is false

4)  (A)is false but (R) is true

Question Number : 115 Question Id : 133327235 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 116 Question Id : 133327236 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

List the paediatric diseases in chronological order.

(A) Kiranthi

(B) Maantham
(C) Kanam

(D) Thodam

Choose the correct answer from the options given below :

(1) (A), (D), (B), (O)
(2) (D) (A (Q), (B)
3) (D), (A), (B), (C)
4  (A), (D) (C), (B)



Question Number : 116 Question Id : 133327236 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 117 Question Id : 133327237 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

The probability that a disease free individual will have a negative test result is

(1) Sensitivity (2) Specificity
(3)  Predictive value (4) Likelihood ratio

Question Number : 117 Question Id : 133327237 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 118 Question Id : 133327238 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1



The use of laws of probability to make inferences and draw statistical conclusions about
populations on the basis of sample data is known as

(1) Sample statistics (2) Descriptive statistics

(3)  Population statistics (4) Inferential statistics

Question Number : 118 Question Id : 133327238 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 119 Question Id : 133327239 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Arrange the following steps of data analysis strategy in correct sequence

(A)  Identify the main variables

(B)  Familiarize yourself with the data

(C)  Identify the study type

(D)  Examine the association between exposure and outcome
(

E)  Create additional two-way tables

Choose the correct answer from the options given below :

(1) (A) (B), (C), (D), (E)
(2) (O, (A), (B), (D), (E)
(3) (B (A), (D). (B), (O)
4 (D), (B), (B), (A), (C)

Question Number : 119 Question Id : 133327239 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 120 Question Id : 133327240 Question Type : MCQ Option Shuffling : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List I :

List | List Il
(A) Action research () True experimental
(B) Cross over (I Qualitative
(C) Time series design () Quasi experimental
(D) One shot case design (IV) Pre experimental

Choose the correct answer from the options given below :

(1) A=), B)-(v), (Q-), (D)-(IT)
(2)  (A-(IV), (B)-(IlN), (Q-(1), (D)-(IN)
(3)  (A)-(V), (B)-(1), (C)-(I), (D)-(llT)
4 A, B)-(1), (©)-(), D)-(V)

Question Number : 120 Question Id : 133327240 Question Type : MCQ Option Shuffling : No



Correct Marks : 4 Wrong Marks : 1
LI LG UIG) 60w UL 196D - 60T QUT(RSE1S :
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g0 Qanpésiul@aer il sadimnes  srlumar  LEMLG
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(1) (A)-{In), (B)-(1Iv), (C)-(1), (D)-(1h

() (A)-(V), (B)-(I), (©)-(1), D)-(1)

(3 (A)-(V), B)-(), (C)-(Ir), ()-(In)

(4)  (A)-{In), (B)-(1), (C)-(l), (O)-(IV)





